M. S. 176.645 Multiple Adjustments Sheet for Dates of Injury 10/1/1992 and after

D/I 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
o
mg%%?zlgltzr“ 103000 | N/A | N/A
Oz Ml L02000 | NIA | NIA | NIA
10%%(/’213;2'“ 1.02000 |1.04040 | N/A | NIA | N/A
O M!11.01690 |1.03724 |1.05798 | N/A | NIA | N/A
10%%?28;8’“ 1.02000 |1.03724 |1.05798 |1.07914 | N/A | N/A | N/A
O r|1.02000 | 1.04040 |1.05798 |1.07914 110072 | NJ/A | N/A | NIA
10%%?%;;"“ 1.02000 | 1.04040 | 1.06121 |1.07914 [1.10072 [1.12273 | N/A | NIA | NIA
105;%‘;28;?“ 0.98860 |1.00837 |1.02854 |1.04911 |1.06684 |1.08818 [1.10994 | N/A | N/A | N/A
O [ 1.02000 |1.00837 | 1.02854 |1.04911 | 1.07009 |1.08817 |1.10093 113213 | NIA | N/A | NIA
105;%‘;23;2“ 1.02000 |1.04040 | 1.02854 |1.04911 |1.07009 |1.09149 |1.10994 |1.13214 [1.15478 | N/A | NIA | N/A
O |1.02000 |1.04040 | 1.06121 |1.04911 |1.07009 |1.09149 | 1.11332 (113214 |1.15478 117788 | NIA | N/A | NIA
105;%‘;25;2“ 1.01030 |1.03051 | 1.05112 |1.07214 |1.05992 |1.08112 | 1.10274 |1.12479 |1.14380 |1.16668 |1.19001 | N/A | NA | N/A
O oa[1.02000 |1.03051 |1.05112 |1.07214 |1.09358 |1.08111 | 1.10273 |1.12478 |1.14728 |1.16667 |1.19000 121380 | NIA | N/A | NIA
10;;%?28;?“ 1.02000 |1.04040 | 1.05112 |1.07214 |1.09358 |1.11545 |1.10273 | 1.12478 |1.14728 |1.17023 |1.19001 |1.21381 |1.23809 | N/A | N/A | N/A
Oy | 1.02000 |1.04040 | 1.06121 |1.07214 |1.00358 |1.11545 | 1.13776 | 112479 | 1.14729 | 117024 |1.19364 |1.21381 |1.23809 | 126285 | N/A | NIA | N/A
e o ]1.02000 | 1.04040 | 1.06121 |1.08243 |1.09358 |1.11545 | 113776 | 1.16052 | 1.14729 | 1.17024 |1.19364 | 121751 |1.23809 |1.26285 |1.28811 | NIA | NIA | N/A
O ey | 1:02000 |1.04040 | 1.06121 |1.08243 | 1.10408 |1.11545 | 1.13776 |1.16052 | 1.18373 |117024 |1.19364 | 121751 | 124186 |1.26285 128811 | 131387 | N/A | NIA
e r11.02000 | 1.04040 | 1.06121 |1.08243 |1.10408 |1.12616 |1.13776 | 1.16052 | 1.18373 | 1.20740 |1.19364 | 121751 |1.24186 |1.26670 |1.28811 |1.31387 |1.34015 | N/A
10%3;’:;2“ 1.02000 | 1.04040 | 1.06121 |1.08243 |1.10408 |1.12616 |1.14868 |1.16051 |1.18372 |1.20739 | 1.23154 |1.21750 |1.24185 |1.26669 |1.29202 |1.31386 |1.34014 |1.36694
O ar!11.03760 | 1.07910 | 1.12226 |1.16715 |1.21384 |1.26239 |1.30329 | 1.33301 | 1.37380 | 1.42875 |1.44347 |1.49130 | 155105 |1.60208 | 1.58382 | 1.63498 | 1.67144 |1.72442
10%3;’:;2“ 1.02640 | 1.06499 | 1.10759 |1.15189 |1.19797 |1.24589 |1.29573 |1.33771 |1.36821 |1.41008 |1.46648 |1.48158 |1.53077 |1.50200 |1.64438 | 1.62563 |1.67814 |1.71556
10742992 thruly 1 65 |1 04334 |1.08257 | 1.12587 |1.17090 |1.21774 | 1.26645 |1.31711 |1.35978 |1.39078 |1.43334 |1.49067 | 1.50602 | 155602 |1.61826 |1.67150 |1.65244 |1.70581

To use this worksheet you must know the date of injury, number of adjustments, and original compensation rate. Find the date of injury in the first column and then multiply the
original compensation rate by the number found in the number of adjustments column. For example: date of injury = 12/1/1995 and original compensation rate = $175.00. The
adjusted compensation rate as of 12/1/2005 would be $175.00 x 1.14868 = $201.02. This sheet is only to aid in making adjustments to the compensation rate. It is not exact in all
cases, but is very close. The actual compensation rate should be determined by the long method: compensation rate x adjustment x adjustment etc.
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M. S. 176.645 Multiple Adjustments Sheet for Dates of Injury 10/1/1992 and after

D/1 19 20 21 22 23
10/1/2015 thru
9/30/2016

10/1/2014 thru
9/30/2015

10/1/2013 thru
9/30/2014

10/1/2012 thru
9/30/2013

10/1/2011 thru
9/30/2012

10/1/2010 thru
9/30/2011

10/1/2009 thru
9/30/2010

10/1/2008 thru
9/30/2009

10/1/2007 thru
9/30/2008

10/1/2006 thru
9/30/2007

10/1/2005 thru
9/30/2006

10/1/2004 thru
9/30/2005

10/1/2003 thru
9/30/2004

10/1/2002 thru
9/30/2003

10/1/2001 thru
9/30/2002

10/1/2000 thru
9/30/2001

10/1/1999 thru
9/30/2000

10/1/1998 thru
9/30/1999

10/1/1997 thru

9/30/1998 N/A

10/1/1996 thru

9/30/1997 N/A N/A

10/1/1995 thru

9/30/1996 N/A N/A N/A

10/1/1994 thru

9/30/1995 1.75356 |1.80459 |1.87208 | N/A

10/1/1993 thru

9/30/1994 1.76994 |1.79985 1.85223 |1.92150 | N/A

10/1/1992 thru

1.74385 |1.79913 | 1.82954 |1.88278 |1.95320

To use this worksheet you must know the date of injury, number of adjustments, and original compensation rate. Find the date of injury in the first column and then multiply the
original compensation rate by the number found in the number of adjustments column. For example: date of injury = 12/1/1995 and original compensation rate = $175.00. The
adjusted compensation rate as of 12/1/2005 would be $175.00 x 1.14868 = $201.02. This sheet is only to aid in making adjustments to the compensation rate. It is not exact in all
cases, but is very close. The actual compensation rate should be determined by the long method: compensation rate x adjustment x adjustment etc.
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